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[a] F [b] A [c] T [d] = [e]l 7
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char a; char hoge[10]; char fugal[l0];
a='A"'; sprintf (hoge, "Akita"); sprintf (fuga, "AKH");
fllz i, iz i,
strcpy (hoge, "Akita"); strcpy (hoge, "FKH™) ;
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(1] (% 18
[7] getchar [1] gets [7] scanf
[Z] fgtec (4] fgets [/1] fscanf
[*¥] putchar [Z7] puts [7] printf
[Z2] fputc [Y] fputs [V] fprintf
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#include <ctype.h>
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#include <string.h>
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#include <stdio.h> Ja N ATES
void show(int i, int J); 4
void prt(void);
int sum(int a, int b, int ¢, int d);
v
int main () { 4
int i, 3, k, 1, wa;
i=1;
j=2; main %O EFH
k=3;
1=4;
prlntf("l")
show(i,j); < B OEFON L
prlntf( '2");
show(k, 117 BELOMFOH L
prlntf("3')

sum (i, 3, k,1);

ve s | BHOWFOH L
printf ("¥n");
printf ("i=%d¥n",1i);
printf ("j=%d¥n",3);
printf ("k=%d¥n", k) ;
printf ("1=%d¥n",1);
printf ("wa=%d¥n",wa);
return 0;
} \ 4
A
void show(int i, int j){
printf(f}"); - -
prt(); B DO L
printf ("5");
show BA% D & £
i++;
j=2*1;
} A 4
A
void prt(void) { " P
printf("e"); pﬂﬂ%i&fﬁE;k
} \ 4
4
int sum(int a, int b, int ¢, int d){
int gokei;
gokeli = a+b+c+d; sum PIEL D EFE

return gokei;

}
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#include <stdio.h>
#include <math.h>

double functionl (double x);
double function2 (double x);

/* */
/* main function */
/* */

int main (void) {
int kakudo;
double pi, theta, v1, v2;

pi=3.141592;

for (kakudo=0; kakudo<=360; kakudo++) {
theta = kakudo*pi/180.0;
yl = functionl (theta);
2 function? (theta) ;
printf ("$d¥tSs1f¥t81£f¥n", kakudo, vl1, v2);

}

return O;
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/* */
/*  sin(2x)DEtE */
/* */
double functionl (double x) {

double vy;

y=sin(2.0*x) ;

return vy;

/* */
/* sin(x)cos (x)DETE */
/* */
double function2 (double x) {

double vy;

y=2.0%*sin(x) *cos (x) ;

return vy;
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